
AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

1

1

s

r

p

n 1
1

1

1

m 2

 OK

6

MAX.

4

5

 A = H - 43mm

DIN 7505 (PZ)

CRL3978

CRL3975

CRL2812

CRL3978

Contenido del juego
Content of the set

Contenu de l'ensemble

s --r

 A = H - 1 11/16"

34,5 mm
1  3/8 "

2 n

m

n

CRL3961

NOT NECCESSARY
WHEN MOUNTING

2 x CRL285SBK

3

0
3

8
0

6
0

1
8

9

7

8

9

CRL3975

10

Ceiling mount

8-10- 12mm
5/16"- 3/8" - 1/2"

7m
m

1/
4

"

  
A

M
ax

.3
8,

5
m

m

M
in

.3
4,

5
m

m

  H

m

n

56,5mm
2 1/4"

66
m

m
2 

5/
8

"

27,4mm
1 1/16"

CRL3964A

CRL3960A

4mm
3/16"

 M
ax

. 
1 

1/
2"

 M
in

. 
1 

3/
8"

10mm
3/8" mm

4mm
3/16"

2mm
1/16"

8mm
5/16" mm

6mm
1/4"

12mm
1/2"

± 1,5mm
± 1/16"



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

13

2

1716

15

- 1,5mm
- 1/16"

s --r

11 12

s --r

-Give 3 turns to the screw. Leave
  loose.
-Dar 3 vueltas al tornillo. Dejar
  flojo.
-Donner 3 retours à la vis. Laisser
 paresseux.

s --r

  13 N/m

s --r

14

s --r

1

1

26

1

25

+ 1,5mm
+ 1/16"



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

18

20 21

CRL3974

19

22 23

3

25mm
1"



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

25
200m

m

7 7/8"

100m
m

3 15/16"

n

27

24

 OK
n

n

D= LEAF  WIDTH
D=Ancho hoja
D= Largueur feuille

 A= H - 45mm  F = H - 86mm

n

CRL2812F

 A= H - 1 12/16"  F = H - 3   3/8"

26

28

29

n

m
D

4

31 32

  To be filled
   A rellenar
  À remplir

30

Ceiling mount

7
m

m
1/

4
"

62mm
2 7/16"

84
m

m
3 

5/
1

6"

M
ax

.4
0,

5
m

m

M
in

.3
6,

5
m

m

8-10- 12 mm
5/16" -3/8" -1/2"

A

15,4mm
5/8"

8-10- 12 mm
5/16" -3/8" -1/2"

14,5mm
9/16"

68
,5

m
m

2 
1

1/
16

"
5

m
m

3/
1

6"

t

H

7m
m

1/
4

"

7
m

m
1/

4
"

30mm
1 3/16"

 M
ax

. 
1 

5/
8"

 M
in

. 
1 

7/
1

6"

5m
m

3/
1

6"

F

  To be filled
   A rellenar
  À remplir

CRL3979A

DIN 7505 (PZ)

CRL3963A
CRL3960A

CRL3967A

± 1,5mm
± 1/16"



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

38

33

68

15mm
9/16"

5

37CRL3976

35 36

34



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

35
 m

m
1 

3/
8"

200mm
7 7/8"

25mm
1" mm

39 40

41

42

Ø 10,5mm
Ø 7/16"

 OK

44 45

47

With 12mm-1/2"glass
Con vidrio de 12mm-1/2"
Avec verre 12mm-1/2"

 A = H - 43mm

n

26
m

m
1"

O

29
m

m
1 

1/
8"

O

3 mm
1/8"

 M
ax

. 1
 1

/2
"

 M
in

. 1
 3

/8
"

CRL2812G

 A = H - 1 11/16"

s --r

43

46
34,5 mm
1  3/8 "

m

n

6

GLASS
PREPARATION

Glass mount

MAX.

M
in

. 8
0m

m
M

in
. 3

 1
/8

"

56,5mm
2 1/4"

66
m

m
2 

5/
8"

8-10-12mm
5/16"-3/8"-1/2"

12mm
1/2"

M
in

. 3
5m

m
M

in
. 1

 3
/8

"

27,35mm
1 1/16"

  H

7m
m

1/
4"

A
M

ax
.3

8,
5m

m
M

in
.3

4,
5m

m

CRL3960A

CRL3964A
CRL3972A

M10

CRL3978

± 1,5mm
± 1/16"



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

49

50 51

5352

CRL3974

48

7

25mm
1"



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

Ø 5mm

1
0

m
m

3
/8

"

200m
m

7 7/8"

100m
m

3 15/16"

Ø 13/64"

57

56

58
n

8

 A = H - 43mm

 M
ax

. 
1

 1
/2

"
 M

in
. 

1
 3

/8
"

 A = H - 1 11/16"

55

12mm
1/2"

CRL3964A

CRL3960A

CRL3978

56,5mm
2 1/4"

6
6

m
m

2
 5

/8
"

M
a

x.
3

8
,5

m
m

M
in

.3
4

,5
m

m
A27,5mm

1 /5/64"

n

m

6,6mm
1/4"

± 2mm
± 5/64"

7
m

m
1

/4
"

H

Wall mount
CRL 2812

33mm
1 5/16"



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

SOFTBRAKE LEFT
SOFTBRAKE IZQUIERDA

SOFTBRAKE GAUCHE

SOFTBRAKE RIGHT
SOFTBRAKE DERECHA
SOFTBRAKE DROITE

CRL285SBK

s

Standards positioning brake

1

z

1

3

w 1

v

23t Din7982
4,2x9,5

Din7991
M3x20

1y

v

v

1

2 2

Din7991
M6x22

Din913
M6x12

Din7991
M6x18

Din913
M6x10

12mm

8-10mm

2 x CRL285SBK

Simple Softbrake
Softbrake Simple
Simple Softbrake

5/16"-3/8"

1/2"

MIN.640mm
MIN.25 3/16"

SOFTBRAKE
OPTIONAL, NOT
INCLUDED IN KIT

Double Softbrake
Softbrake Doble
Double Sofbbrake

2

9

REMOVE!!

w

v
z

w

v

z

25mm
1" r 25mm

1"

CRL285SBK

Min. 1020mm
Min. 40 3/16"



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

-Give 3 turns to the screw. Leave
  loose.
-Dar 3 vueltas al tornillo. Dejar
  flojo.
-Donner 3 retours à la vis. Laisser
 paresseux.

CRL285SBK

  13 N/m

CRL285SBK

s --r

CRL285SBK

3 4

5

7

10

10

s --r

6

  13 N/m

s --r

9

-Give 3 turns to the screw. Leave
  loose.
-Dar 3 vueltas al tornillo. Dejar
  flojo.
-Donner 3 retours à la vis. Laisser
 paresseux.

s --r

8



AVDB0000_10/14

MAX.
80kg.

MAX.
176lb.

D = (15, .... ,17mm)

D = (17, .... ,19mm)

y

2,5mm+-
t

y

y
t

D = (9/16", .... ,11/16")

D = (11/16", .... ,3/4")

1/16"+-

12

13 14

y1

y2

TRIGGER SELECTION
y1 y2or

Ø 3,2mm
Ø 1/8"

11

11

12
,5

m
m

1/
2"

14
,5

m
m

9/
16

"

25mm
1"

284mm
11 3/16"

D




